REDOXNI ROVNICE —vygislovani

1/ se + Ch + H O —7* H.SeQs + HC 123 14
2/ HCIO +Brz + Hy0 ——# HBrOs + HC 511 25
3/1s + Cly + HO—"" HIOs + HCl 156 210
4/ As;03 + Bra #+ H,0 ———— H3AsOa  + HEr 125 24
5/ NHs + Brie—mp N; + HBr 23 16
g/ HCl + MnO;—* MnClz + Ch + H0 411 12

7/ MnO; + KBr + H:S0s——— MnSO4 + Bry + KiSOa+ HO 122 11 a )
8/Kl + CusOs—— Cul + h ¥ K250a 42212
9/ HI + HBrOs—— 2 * H,0 + HEBr 6 4 331
10/ HIOz + FeS0a + H508—# I + Fes50a)s + H0 2 108 156
11/ H:50s + 12 + H:0 ——» H:50a + HI 111 12
12/ KCIOs + KI + HaSOs ——% K504 + KCl + 12 + H:0 163 3% 33

13/ H;50s + HOIQa—* HCl + Hz504 4 1 14
14/ HIOa + CO ——@ COs + L + H0 - 0. 511
15/ Cu + Ha504 ———* CusOs + 502 + H0 12 11 2
16/ C + H:50a ———* CO; + S0z + H20 12 1 2 2
17/Cu + HNQz ———* Cu(NOz)z + NO + Ha0 38 324
18/ Ag + HNOa AgNOs + NO 4+ H:0 314 3112
19/5 + HNOs —# H;50a + NO 1 2 12

20/lz + HNO3s ——»p HIOs + NO + H20 3 10 6 10 2
21/ Mg + HNO3——% Mg(NOa): =+ N:O + H20 4 10 4 1 5

22/ Cus + HNQy ———* Cu(NO3); + NO: + H50s + H:20 11018 14
23/ Fes0a + HNO: + HaS0s ——— Fez(50a)s + NO + HO 623 3 2 4
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24/ As:0s + HNOs + Hy0 ——» H3AsOa + Nz0s 1 2 2 2 1
25/ KNOs + Cra(504)3 + Naz 003 —— KNO:2 + Na:CrOs + Na 504 + CO2
3 1 6 3 2 35

26/ Bi0s + C——F Bi + CO 1 3 2 3
27/ Fé20s + CO p Fe + CO: 1 3 2 3
28/ NaBrQs + C———% NaBr + o 1 3 1 3
29/ CaS0a + € ——» cas + CO 1 4 1 4
30/ Na;504 + C——F Na:5 + CO 1 4 1 4
31/ FeS0a + Ce(S0a) —* Fes(504)3 + Cea(504)s 2 2 1

32/ KMnQas + HCl——— Cly + MnClz + KCl + Hi0 216 5 2 2
33/ KMnOa + KI + Hy508— 1z + Mn504 + {350 + H20
2 10 8 5 2 6 8
34/ KMnQa + Fe50s + H:504 — - Fez(S0a)z + MnSOs + K504 + H20
2 10 & 5218
15/ KMnQa + KNO; + H504 —— KNO3 + MnS0a + K504 + H20
2 53 5213
36/ KoCraQ7 + HI + Hi50a—® 1 * Cry(S0q)s + K804 + H20
16 4 3117
37/ K:Cra07 + Hi50s + HS04——* Cra(S0a)s + K504 + H:0
121 1 14
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